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1. (X3x2-%2x2-10:)

@ 10800+9000=1.2 % (1.2f%)

@ 9000+10800=% % (%)

2. (K2x2-%2x2-8x8)

@ 200+320=%(0.625) %(%(0.625))

@ <3oo—200>+320=% 0.375)

% <% 0.375))

3. (R4 - %4 -120)
1500 — 1500 X 0.2 = 1500 — 300 = 1200
% (1200M9)
4. (%2
D4 %
®101%
5. (%2 -81)
0.5 20.03 (30.008 @2.07
6. (%2 -415)
D300 % 0.2=60 % (60g)
@5 %x15=75 % (7.5m)
7. (R3x2-%2x2-108)
D16+ (16+24) =0.4

- 128)

@12% @103% @50.7% (©20%

% (40%)

@24+16=1.5 % (150%)
8. (%5 -10)

@540+ 5 =108(180—-108) + 2 =36 % (36°)
@108 —36="72 % (72°)
9. (X5 %5 -10m)

() 4x2x314+4=6.28

6.28+ 4 x 2 =14.28 2 (14.28cm?)

10. (%2 - 8 1%)
D400 % % =50 (1) @60x % —50 (¢)
(3150 x g =120 (cm) @240 x % =180 (1)

11. (X4 - %4 - 820)
(%) (8+15+12) x 4 +12=152
% (152cm)
12. (%2 -« 455)
© ) @ (EHE)
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1. (#2%5 %45 -104)
@®
< < 5—10
10 10 % (630)
2. X4 %4 -85
3 x4 =12 % (12:0))

3. (FAJH5 45 - 104)

B—C ZhH»B. CTHWVRBHEDT
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C—B 2x3=6 4% (6i0)

4. (X3 -%3-6x0)

3x2=6 A (6D)

5. (#2745 - - 102%)
|a& &

6. (%2 - 8)

1700cm? @40a (380000m? @9.2km?
7. (%2 - 8)

D2800L @250mL (321000mm3

®3000000cm?
8. (%2 - 81H)

D305 @1201 (313000 @0.09
9. (&5 -%&5 -1080)

280+ (4 +3)=40 40x 4 =160

40x 3 =120 % (L160MH. 231201H)
10. (2745 %45 -104)

OMONFFE) |1 | 2314|5678

OHDOARPAME) | x | 9 | X | x| 5 | x | X

& OSFF 2R NFFEER S NFFER
AhA M, APASHE, AP A 1)
11. (X3 -%3 - 6x)
(48—34)+2 =7 17-7 =10
& (DB100°%, HATOE)
12. (X3 -%&3 - 6x10)

40%x40+ 2 + 2 + 2 =200 2 (200cm?)



